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1757 =1 SrEe 451 B it S=mar YT .
(1) Bhred (2) oA g™
3) U FoRE @) s
was the Commander of English army in the Battle of Plassey in 1757.
(1) Elphinstone (2) Warren Hastings
(3) Robert Clive (4) Dalhousie

YRATE TS HIT 9919 I ROw 21 =1 AFGETAN A48 S0 B ?
(1) cEoHE 92 (2) SEAETS TE
(3)  TIWIes FSN TS (4) O FIATHE

Who was the President of twenty first session of Indian National Congress held at
Banaras ?

(1) Vallabh Bhai Patel (2) Jawaharlal Nehru

(3) Gopal Krishna Gokhale (4) Lala Lajpat Rai
GEIETEEC T Tt fefed.

(1) ¥ 23] (2) ST B

(3) werH 4) Frem-3e-f s
The Tabakat-i-Akbari was written by .

(1) Mulla Daud (2) Abul Fazl

(3) Badauni (4) Nizam-ul-Din Ahmad

A&, FUAHT AA BT YT T S ?

(1) THam wegy gor 9=l (2) WERIETE Urel

@) TeEm @ (4) wETSETE qEt

Which party is established by ].B. Kripalani ?

(1) Kisan Majadur Praja Party (2) Marxwadi Party

(3) Kisan Party (4) Samajwadi Party

1887 Wedl WG < At gEw ! A9 T F, |

(1) o (2) TR (@) Fe (4) WerR
‘Empress Mill’ founded by Jamshedji Tata in 1887 at .

(1) Mumbai (2) Nagpur (3) Calcutta (4) Solapur
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YeRTEdS FHIv HeH Tl 9eqdd TUIaN ?

(1) Y= T G 9P FON Tge

(2) & & T B

(3) g Tirerd g

(4)  ivem Tierd T43

Which imaginary circle on the earth is known as great circle ?
(1) Circle seperating earth into two equal parts

(2) Latitude and longitude circle

(3} East hemisphere circle
{4) West hemisphere circle

Gﬁﬁﬂ@:

s an faum/eo
(a) @M () T i
(b) T (i) S
(0 fowo (iii) I T
(d) FArte (iv) W=
WE?I:(:

@@ M (¢ (4
() Gv) @ @ ()
2y @ (v) (@) ()
(3 @ @) @ v
(4) () () (v) (i)
Match the following :

Local Winds Area/Country
(a) Bora (1}  Central Asia
(b) Buran (i) Austria
{c) Mistral (iii) Green Land
{(d) Tromontana {iv) France

Answer Options :

@ () () ()
M @ @ 0§
@ @ G @) @
@) O @ @
@ @ O @ @

AT RIS ST /SPACE FOR ROUGH WORK




8. FYUTGS=I YA Hic IS ?

(1) I YEIid TEHMER 2) <o yeia HEEIR
(3) T HR (4) 9 HER

Where the Kuroshio current found ?

(1) North Pacific Ocean (2) South Pacific Ocean
(3) Mediterranean Sea (4) Dead Sea

9. WA TE SUH il T SABSITIR Sl 77 ol :
(a) WS ®) e () md (d) erfem
it 3
(1) (@), (b), (), (d) (2)  (d), (), () (a)
@) (. @) ®) © (4) (@) (d), (¢}, (b)
Arrange the countries listed below as per their area in a descending order.
(a) Brazil (b} Australia (c) India (d) Argentina
Answer Options :
1)  (a) (®) () (d) (2} (d), (0}, (b). (@)
(3) (d) (@), () (c) 4) (@) (d) (@), (b)

10. 3Ea argrEt feen fior Merafa wwm y=wR e ?
(1) sifes araren T T (2) wH aFaTen qrETen e
(3) weUwn SaE faeg fdm (4)  wewearen wRarEn fin
In cyclone the wind direction iri Southern hemisphere is found as moving :

(1) towards high pressure wind (2) towards low pressure wind

(3) in anticlockwise direction (4) in clockwise direction

oAl HMEIS ST /SPACE FOR ROUGH WORK
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11. WYY Hledd IR I SHVRINE! 30 e W[ B o
faum1- YR 9US SEeET STYRSR Fegdl.
faar 11 - wuren TR uiKa @ S 29 e,
faam 111 - ScieraeR Rd ga Siae wied o 2.
Tqidt 39
(1) faum 19 11 St safo 111 9.
(2) Taum 19 11 S0 i 10 5.
(3) Tt faum sl=k.
(¢) To= faum ==
Before Independence the rulers said that India was not suitable for democracy because :
Statement I -  Indian society was not based on equality.
Statement II - Traditionally India was not a democratic country.
Statement III - Indian social life was fragmented because of the caste system.
Answer Options :
(1) Statement I and II are right and III is wrong.
2) Statement I and III are right and II is wrong.

(2)
(3)  All the three statements are right.
(4) All the three statements are wrong.

12.  9RAHE S QiHdrEeg Qe T faeEm = -
(a) 1946 Well Ffse v ASHTER YRA™ w1 Qi T8 Hua[ ST,
(b) Tl Wi yIe ¥ vRar e afydr 9 fraffan seae 2
(c) WA g1 afiiwed IR Iaegel B,
() &N FeERe R T ST TR 04 AR 1947 TS AR F.
FhSURT Fve /dF faum/ atET R/ ?
1) @@ 2 O QI @) @FTEQ (@ (@7
Consider the following statements regarding the Constituent Assembly of India :
(a) The Constituent Assembly of India was Constituted in 1946 under the scheme of the
Cabinet Mission Plan.

(b) Dr. Rajendra Prasad was the first elected President of the Indian Constituent
Assembly.

(c) There were Four Vice-Presidents in the Constituent Assembly in India.

(d) Dr. Babasaheb Ambedkar introduced the Final draft of the Constitution on
Nov. 04, 1947,

Which of these statement/s given above is/are correct ?

(1) (a), (b)and () (2) (b), ()and(d) (3} (a)and(c) (4) (a) and (b)

FHoAT HIWES I /SPACE FOR ROUGH WORK
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13. G faur feramm =11 -
(a) g faur Tieee wefag sray smam.
(b) - AfFiss fAuraden SEer 3.
(c) TATI= SEahidl Y& el faur ftasa= Aigen S
ot FvR /<t fauH/T a0eR s/ ?
(1) T (a) (2) @efm@p) () FHEO) (4) (a) 37 (o)
Consider the following statements :
(a) Governor is the ex-officio Chairman of Legislative Council.
(b) The State Council of Ministers is responsible to the Legislative Assembly.

(c) The proposal to remove the Governor is initiated only in the Legislative Council.
. Which of these statement/s given above is/are correct ?

(1) Only (a) (2) (a).and (b) (3} Only (b) (4} (a) and (c)
14,  THIS TR HEUIG WA el 2 ¢
(31) (=)
(a) THIAETE Wl | () FH-15
(b) EwEE Widsy (i) HSH - 16
(o) G wEEE (iif) HSH - 14
(d) sregEEa R (iv) ®oH - 17
it I

(@ (b)) (o “d)
1 O @ @ )
2 G@v) @) @ @
@) @) @ @ @)
@) @ @ @ )
Match the following pairs regarding the Right to Equality :

(A) (B)

(a) Equality before Law {iy Article-15
(b) Prohibition of Discrimination (i) Article - 16
(c) Equality of Opportunity (i) Article - 14
(d) Abolition of Untouchability (iv) Article - 17

Answer Options :

(@ (b) {0 (9
(@ @) @ @) v)
(2) (v) @) @@ @
@) @) @ @@ @)
(4) (@) @v) @ ()
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15. %3 9 Ty TS Hay GURUITEE! 1983 Ho! TR SRR S0 ST 9 Het
et 7
(1) TSHAR A=A (2) EEAUIET SN
(3) TR AEM (4) ABTTST A
Which commission was constituted in 1983 by the Government of India for improving the
- relation between the central government and the states ?

(1) Rajamannar Commission (2) Swaran Singh Commission
(3) Sarkaria Commission (4) Venkatachaliah Commission

16. TR T4 fonesian Tos 379 IqUHE! ‘4 0 Hesdra ST Sehi=a1 3aaEret ‘17 97 Hael
S SR A Te 60 I Wiefaes anfin 130 o e i@ @ @M fadt 99 srgs @iefas ?
(1) 35 (2) 38 (3) 40 (4) 42
In an examination a student scores ‘4" marks for every correct answer and loses ‘1" mark
cvery wrong answer. lf he attempts in all 60 questions and secures 130 marks. How

many questions he attempts correctly ?
(y 35 (2) 38 (3) 40 (4) 42

17. Tl gt a9 f9g dig wed 39 ITRE. G99 TR SEihe T HIeEAd 980, AW
IFEEHS T FEhHAN B, T @ I die e e T5e 7
(1) == (2) = (3) g (4) TR
Suppose you stand in such a way that your face is towards North-West. Firstly, you
turned to left in one right angle, then turned to right in two right angles, now in which

direction your face will be ?
(1) North-West (2) North-East (3} South-East (4) South-West

18. WOIT Afed! Flelgad a1 AT e faarReen Te-r S o
() “ABCDE SMCF € UH A Hel Her S,
(1) FZardIe T SUSWH, TeF S qob 780
(I ‘A F'C =1 @M At E g A’ S ot ST
(IV) ‘D §'F <1 geall 3/gF, 'F =i 8T 37%.
(V) B ECF T S
TAGTH FIUE! SISt & 1 S T e 7
(1) AB 2) BC (3) AF (4) O TFE TR
Read the following information carefully and answer the question given below :
Iy 'A”'B ‘C’ ‘D’ ‘E’ and 'F" are the six members of a family.
(I)  One couple has parents and their children.
(TI) ‘A" is son of ‘C" and 'L’ is the daughter of "A".
(IV) ‘D’ is daughter of ‘'F’, who is mother of ‘E’.
(V) ‘B’ is mother of ‘F’.
Which of the following pair is the parents of the couple ?
() AB (2) BC (3) AF (4) None of these

THeedT SHTHETS! ST /SPACE FOR ROUGH WORK
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19. U Tichfash YINd RS TASHHN [ aTioe! 2.

0 1 2 3 4 5 6 7 8

S A E th e P T & K Y

AT (K x@+T+E—x P) =t {oa ot a4 ?
(1) 42 (2) 148 (3) 40 4) 39
In one code language, the symbols are used for numbers in following way.

0 1 2 3 4 5 6 7 8

5 A E h [ P T | ® K Y

‘What will be the value of (Kx®+T+E—-#xP) ?
(1) 42 (2) 148 3y 40 (4) 39

20, fooo vreeitent famma vIsg S
(1) T (2) foremie (3) @R (4) TR
Find the contradictory word from the following words :
Acre, Kilometer, Square feet, Hector
(1) Acre (2) Kilometer (3) Square feet (4) Hector

21, WO Mo o 58 sl
(1) 3TEERH 2) =%
(3) A® (4) FloUs THE AR
Find the contradictory word in the following set :
Icecream, Ice, Water, Vapour
(1) Icecream (2)  Ice
(3) Vapour (4) None of above

22, YEATERTE ST AR SR THE T ;
ACFJO, BDGKP, CEHLQ, _?

(1) DFLMR (2) DFINR (3) DFIMR (4) DFIMS
Find the set of characters in place of question mark :
ACFJO, BDGKP, CEHLQ, _?__

(1) DFLMR (2) DFINR (3) DFIMR (4) DFIMS

HoT HIFTETS ST /SPACE FOR ROUGH WORK
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23. we AFda v fasren St wivrt den Ao ? 3 ey faen ¢

3| 6
12 15
? 5
10 20
(1) 25 ) 4 @) 7 4) 13

In the following figure, which number will replace the question mark ? Select it from
given options :

31 6
12 15
? 5
10| 20
(1) 25 ) 4 Gy 7 4) 13

24, TH Gih{qeh 9N ‘Bhavika’ 8 & “Yexsthx’ 3791 fofeen Sl T @< WA ‘College’ 71 91

w1 fofea s ?

(1} Eroohjh (2) Amiibdb (3) Bnkkded (4) College

In a certain code the word ‘Bhavika” is coded as “Yexsfthx'. In the same code the word
‘College’ will be written as :

(1) Eroohjh (2) Amiibdb (3) Bnkkded .. (4) College
wrex Taon Arfediass Wy wHiss 25 3T 26 =i 39 Sadr=it 318,

Read the following information and answer the question number 25 and 26.

o
(e

‘A’ T TR TRdT GaEE oTR. ‘B ¥ T B QST AR, TR ‘C’ ¥ FRalo Galgdl .
The circle ‘A’ represents Cricket players. ‘B’ represents Hockey players. The ‘C’ represents
Football players.

25. TS SHAIAEA FHIVRET ST T TS G & Wod Qa3 ?

(1) D (2) E (3) F 4 G
From the above diagram select the code which plays all the three games.
1) D (2) E 3¢ F @ G

HEAT HIATES I /SPACE FOR ROUGH WORK
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26. @l e Fraer S gt N findhe Qeadl Tig Feaie Wod TR

1 A (2) B (3 C 4) D
Select the code which plays hockey and cricket but not football.
1) A 2 B @ C 4) D

27. WA TH 3iF Wicw BE TR, 6o ToOF e TH a0 967 o 3. @« a1 3iF
HIfeFd - THUR Sid el

5, 13, 29, 63, 125
(1) 13 2 29 3) 63 4) 125

There is a number series, in which each number comes due to particular rule. Find out the
number which is odd in the series.

5,13, 29, 63, 125
1) 13 2) 29 3) 63 4) 125

28. R T HEHA SHIG 315 YT AEIE 21 AR, WS Th HEAT 63 3¢ W L G Wroredsh!
0Tt ?
1) 315 2) 105 (3) 45 4) 21

If least common multiple and greatest common divisor of two numbers are 315 and 21
respectively, and one of these numbers is 63, then which of the following is other
number ?

(1) 315 (2) 105 (3) 45 4 21

29. U SRl ST e 2 g 9 2 o 9990 TRd. d IW, 74, <for anfun ufEm feden die
TS 3Med. TH HA™ die il fiden . & qot e feden dis s seeedr 3TRd ?
1) v anfon ufmm ) SfEr snftn
(3) W anfu ufy=w (4) IR i 9o

Two girls and two boys sitting around a square table. They are seated in North, East,
South and West direction. No girl is facing East. Opposite sex are seated opposite to each
other. One boy is facing South. Which direction the girls are facing ?

(1) East and West (2) South and East
(3) North and West (4) North and East

FoAT HMEE AP /SPACE FOR ROUGH WORK
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30. WAl HiEt =R et qof == de Hw ?
9261, 8000, 9999, 9998
(1) 8000 @) 9261 (3) 9999 (4) e TR
What is the largest four digits number which is a perfect cube ?
9261, 8000, 9999, 9998
(1) 8000 @) 9261 3) 9999 (4) None of these
31, A SHHFA AeUIHT Qi * FAfGA TSI SRS e FHHEr
(a) AV FHINTIVN SOOI HIA & WHUIR L.
(b) T 3 wfiaifs et TFAFEET sTEEe wiE.
it 3T :
(1) W Ted® (@) G O AR, (2) e Thedeh (b) YW F IR,
() faur ) fFarp) g FS o= (@) f9ud (a) 3 (b) Giea F TR
In order to bring punctuality in our office, we must provide conveyance allowance to our
employees. In charge of the company tells Personnel Manager.
Assumptions :
{a) Conveyance allowance will not help in bringing punctuality.
(b) Discipline and reward should always go hand in hand.
Answer options :
(1) Only assumption (a) is implicit (2) Only assumption (b) is implicit
(3) Either (a) or (b) is implicit (4) Neither (a) and nor (b) is implicit
32. Wl Wiskfaw fofte sremilesl % arowad. o ggd S, (e et fuewe’ § v
STRH 3434, 7272 31f0T 5151 o7F foferma. & == fofta ‘<o’ &1 o= %4 o ?
(1) 312712 (2) 512712 (3) 321712 (4) 312512
In a code language, number is used in place of letter. In this language, the words ‘==,
‘WA’ and '9E9C’ are written as 3434, 7272 and 5151 respectively. How will the word
"ITE’ be written in the same language ?
(1) 312712 (2) 512712 (3) 321712 (4) 312512
33, T onfor Tedia oA FA O 11 : 9 . 15 Au(YE! &ie Fa O 4 3 8. R

e A 3 :

(1) 5539 (2) 45 (3) 40=d (4) 30=d

The ages of Harpreet and Gurupreet is in the ratio 11 : 9, before 15 years, their ages were
in the ratio 4 : 3. So Gurupreet's age today is .

(1) 55 years (2) 45 years (3) 40 years (4) 30 years

THoeAT HTHES AT /SPACE FOR ROUGH WORK
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34, GO® AFHdE TR fhdt B smea ?

(1) 6 | 2) 11 (3) 12 (4) 10

How many total triangles are there in the following figure ?

1) 6 @ 11 3) 12 4) 10

35. WO NHdi 0 FE AhEEn e . ¥ F F N ued [ @ w9 e
ST Ay e fae

17 5 22 8 31 5

31 ? 23

1) 30 2) 38 | @) 42 4) 46

In the following question, a set of figures with certain number is given, which follows
certain rules. Find out the missing numbers in the place of question mark.

17 5 22 8 1 31 5

31 ? 23

(1) 30 (2) 38 (3) 42 4) 46

HoeAl HIWHS JT /SPACE FOR ROUGH WORK
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36. 8 AR fEEEmeT 9 AW FM FEA TF HW 20 fgaww ¢of Fam. 7= w7 AR feaaen
10 99 H Hed forat feawma gl wdto ?
4 3 2 4
20= = = il
1 L7 (2) 20¢ @) 207 (4) 202
8 men working for 9 hours a day complete a piece of work in 20 days. In how many days
can 7 men working for 10 hours a day complete the same piece of work ?
4 3 2 4
20— 20— 20= 20—
m 20 @) 20; @) 203 @) 205
37. SR [28x272=32 W x=ToFdl?
1 2 5
O Y @ 3 @ 3 4) 1
If [28%272]*=32 then x="7
1 2 5
M 3 @ 3 ® @ 1
38. & T 3500 formd=ft og 10% Y2 o7 fasreamat sese feadier T weie 5% Je et atan
Tt ot fohma foRdt ?
- (1) T 29755 (2) T 29925 (3) ¥ 3100 | (4) ¥ 3050
Price of an article is ¥ 3500 and is sold at a 10% discount. A further discount of 5% is
given due to off-season. What is the selling price of an article ?
(1) T 29755 (2) 29925 (3) ¥ 3100 (4) ¥ 3050
39. TH HIVEME I 50% 3 FH WS TR FH F1o0 9= 50% 7 qES T AT G e fohdt ?
(1) 50% (2) 10% (3) 100% 4) 25%
A man’s wage was reduced by 50%. Again the reduced wage was increased by 50%.
Find his loss percent. .
(1) 50% (2 10% (3) 100% 4) 25%
40, ufeean 12 FwwaR afifs derien v s fohdt ?

(1) 5625 (2) 6084 (3) 6561 (4) 7056
What is the sum of cubes of first twelve natural numbers ?
(1) 5625 (2) 6084 (3) 6561 (4) 7056
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41. U 90 HI=A e, 38 E B 99l fuan, 4zaﬁa°ra3laa;rqfrﬁma T HIB
Tauri= e fadt ?
1 10 . (2) 38 (3) 42 (4) 48

In a group of 90 persons, 38 drink only Tea, 42 druﬂ( both Tea and Coffee How many
persons drink Coffee only ? ‘

1) 10 2) 38 @) 42 ‘”(‘4) 48

42, qw%ﬁimmaﬁﬁgwmmﬁéﬂﬁ Hﬂﬁﬁ?ﬁﬂ'ﬂﬁf?ﬂ@['ﬂﬁ”ﬁﬁ" -y

@ 9 (2) 8 @) 7 @ 6

A sum of natural number and its multiplicative inverse is 9 What is the natural
number ?

» 9 (2 8 @) 7 @ 6

43. T GEARE ufEe SEA gEl g A faeie fawe TR, ﬁl-—éﬁ@rq&muﬂeeamam
aﬁaﬁwﬁwmﬁmﬁ?

1 36 (2) 54 (3) 48 (). 57

First number is double of second and triple of the third number. If avérage of these three
numbers is 66, then which is the smallest number ? :

(1) 36 (2) 54 (3) 48 @) 5y

44. W \/x+\/40+\/68+\/169 =11 W x =t fF7a =l

1) 114 Q) 121 (3) 128 @ 125

If \x-+ 40+ 68+ 169 =11 then find the value of .

1) 114 2 121 (3) 128 | 4) 125

HeAl SIS AT /SPACE FOR ROUGH WORK'
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45. @S AFAE I(PR) =1(QR), I(PS) = {ST) 3 m/PSQ = 100°, m/PQS = 20° T mL TPQ =2
P
500 w00
Q TR S ) T
(1) 90° (2) 120° (3) 70° (4 110°
In following figure 1(PR) =1(QR), {PS) =1(ST) and m£P5Q =100°, m£PQS=20°, then
mLTPQ ="
1y 90° @) 120° 3) 70° 4) 110°
. 1 2 3 .
46. @ WEAH TR >3 M R, Hard ISl 9 GIld oo ST WiE 36 AR, aX o
TEAT Fivre ?
(1y 10, 32, 46 (2) 40,52, 76 3y 72, 96, 108 (4)y 36, 45, 72
Three numbers are in the ratio 3 : 3 : g The difference between the greatest and the
smallest is 36. Then the numbers are :
(1) 10, 32, 46 (2) 40,52, 76 3) 72, 9, 108 (4) 36, 45, 72
47. TF FHAR TN GEH S Wi 23 IR, d€ o el o] ?
1y 13, 14 2y 11, 12 3) 89 4) 12,13
If difference between squares of two consecutive numbers is 23, then what are the
numbers ?
(1) 13, 14 2) 11,12 (3) 8,9 (4) 12, 13
48. UM HEAR TR GO 48 3. W dfeean a1 Sree=n HeAw TnEr fandt 2

(1) 3200 (2)y 2300 (3) 6400 (4) 1000
The average of five consecutive numbers is 48. Find the product of first and last numbers.
{1y 3200 {2y 2300 (3) 6400 {4y 1000

o=l HIHTHTS! AT /SPACE FOR ROUGH WORK
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49, HrEEAT SMFT 1@ BA||fFRT CE W msACB 9 19 foelt 2
A
300 E
0
B C D
(1) 100° @ 30 (3) 80° 4) 70°
In following figure, segment BA||ray CE then mZACB=?
A
30° E
70° —>
B C D
(1) 100° (2) 30° 3) 80° @ 70°
50. SR (95)2~ (90)2=[(65)2— (60)2] k. T k =it fobwra fepeht ?
25 37 37 50
1) 37 2 =5 G 5 @) =
If (95)2—(90)2=[(65)%~ (60)?] k. Then what is the value of k ?
1 E 2 E’Z 3 _.31?_ ‘ 4 0
M 3 @ = S @ 37
51. HIUII T2 GR THEIE SaatT WEarEt T het o ?
1) T (2) ST (3) ol 4) Wem
Transverse nature of light was confirmed by the phenomenon of of light.
(1) diffraction (2) refraction (3) polarization (4) dispersion
52. 1%ad = .
(1) 3.6x106 () 4.184 (3) 1.356 (4) 746
1 calorie = ].
(1) 3.6x106 (2) 4.184 @) 1.356 4) 746
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53.

18 A
1000 32 wrakite foe[d Tt TN 2 19 9! Sd. SR Ua fhel de amm (unit) < T 3.00
3T W THE! A Afe=am arwoe fagd So4! fFma we
(1) T186 (2) T 180 (3) T 135 (4) T 200

Electric iron of 1000 Watt power is used every day for 2 hours of duration. If rate of
1 kW-hr (unit) power is ¥ 3.00, then calculate the cost of total electricity used in the month
of May.

1) 186 ) 180 () T135 (4) ¥ 200

54,

favardte agd® e Five ferda AfaEme s ?
(1) woa ferdt (2) vy et (3) oy fert (4) oA feud
Most of the matter in the universe exists in the

(1) liquid state (2) solid state (3) gaseous state  (4) plasma state

55.

- § JEra: GOEATa UTSHes Fivedr g Ieafsia el 2

(1) *id 4T aggR (2) @ TH FER

@) Tifsrg argR - (4) T AR

X-rays are mainly emitted by in astronomical systems.
(1) very cold gases (2) very hot gases

(3) inert gases (4) none of these

56.

THGUH! HIVE JoaA= € grriae Rovmfag ' o ?

(1) fodfler anftn sifoay - (2) fodism anftn drfiem
(3) foeftem snftr fe @) foedtem anfin gew
Which of the following pair of elements shows diagonal relationship ?
(1) Liand Be (2) Liand Mg

(3) Liand Zn (4) Li and Sulphur

HoAT RIS S /SPACE FOR ROUGH WORK
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57. WH® A G 9 I8 IV FGUH/RI0RT foam slag g/ 7
(a) e ST, FAFAd 9 (b) dia ST, HAGEA A
(c) SAFaq ], dd a9 (d) U D], FAFAA a9
it I
1) () % (2)  (b) v
3) (a) 3 (c) Fe (4) (b) =Wl (c) P
Regarding conjugate base, which of the following statement/statements is/are correct ?
(a) Strong acid is a weak base (b) Strong acid is a weak acid
(c) Weak acid is a strong base (d) Weak acid is a weak base
Answer Options :
(1) (a) only (2) (b)only
(3) (a) and (c) only (4) (b) and (c) only

58. WS FvM TG ' AR TUF FTHAM ?
(a) A HEIS (b) TEINA WAFEES
(c) IIBIES TS (d) HicTm FoTES
it S
(1) W () (2) I (b) S (d)
(3) PH (a) MW (c) (4) B () MM (d)
Which of the following is used as “Anti-knock” ?
(a) Iron carbonyl (b) Hydrogen peroxide
(c) Tetra-ethyl lead (d) Calcium chloride
Answer Options :
(1)  Only (o) (2} Only (b) and (d)
(3)  Only (a) and (c) (4)  Only (c) and (d)

59. WIHGIH! HIVIEl AL SHUIS Sl Ja ?

BeF,, BF,, CF, @ NF,

(1)  BeF,, BF, (2) BeF,, BF,, CF,

(3)  BeF,, BF,, CF, 9 NF, (4) NE,

Of the following molecules which would exhibit a dipole moment ?
BeF,, BF;, CF, and NF;

(1)  BeF,, BF, (2) BeF,, BF,, CF,

(3) BeF, BF, CF, and NF, (4) NF,

Tl RHMATST SR /SPACE FOR ROUGH WORK
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60. TEENHH 377 T HOGME! R 3 fagoe wfagda Toie Msla aaEy k.
(a) TOFEITH YHUERE YISt Wi AgaIhi STHd,
< " h
(b) TOHA TR YHURET Al e8] G SRS AHUZH F ThA i g =1 92 Al
(c) TOFLH gl AT YHUIHET 3Tl degl ol Haid Sedsi Hirg e,
(d) IOTN TH YAUHST G FHUHET Sq S el a1 fehar Bl
Fiwte! FHR faum/faum set ame/a?
1) (@) 5 (2)  (a), (b) B
(3) (@) (b), (c) 3T () @) (@), (b) AT (c) FH
The model chosen by Bohr to represent the hydrogen atom is made up of the following
postulates :
(a} The electron moves about the nucleus in a circular orbit.
(b) Only orbits in which the electron has an angular momentum that is an integral
, h
multiple of og e allowed.
(¢}  The electron does not radiate energy when it is on an allowed orbit.
(d) It can gain or lose energy only by jumping from one allowed orbit to another.
Which of the statement/statements given above is/are correct ?
(1) (a) only (2)  (a) (b) only
(3) (@) (b), () and (d) (4)  (a), (b) and () only
61. WOIGIH! HIVK HIOERUS ¢ TS RS B @S Sid ?
(1) TEIT, - HeRls 2) TSHTE - FS
(3) RNTHITE - RS (4) B3Iy 9 N ISILTE - FORUS
Which of the following cholesterol is called as ‘Good cholesterol’ ?
(1) HDL - cholesterol (2) LDL - cholesterol
(3) VLDL - cholesterol (4) LDL and VLDL - cholesterol
62. TGS HIUA e * TR FaT=41 YETHi= SHTHI T SN T AT ?

1) wfa o= 2) T I

(3) o YA (4) Fl@UEt HIE TR
Which of the following is used for commercial production of ‘agar’ ?
(1) Green Algae (2) Red Algae

(3) Brown Algae (4) None of the above

THeeAT HIHTES AT /SPACE FOR ROUGH WORK
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63. WISIBIH! HIVA HIAT FTANE F S TN Gt ?

(1) K~ (2) Cu?tt (3) Mg?* (4) Co?*

Among the following which is most abundant cellular cation present in the plant ?

(1) K7 (2) Cu2t+ (3) Mg?t (4) Co?t
64. TADUH HIval faNE— TgFa W ST v Wail gfva W@ Jeaear fhar gfvd giqd eml ?

1) T=q . Q) TemEfmdEt  (3) ¥emEfEmT (@) T

From the following which is the virus borne liver disease which is spread by infected
blood transfusion or infected needle prick ?

(1) AIDS (2) Hepatitis B (3) Hepatitis A (4) Rubella
65. STERS S do e A 1 B,
1) -1 (2) FEH-IV @) IwufE (4) YIE-III
The oil globules in plant food turn red with
(1) Sudan-I (2) Sudan-IV (3) Safranine (4) Sudan-II
66. SR &t T A ThdT SifeR & & hAash IR o oM o IR ISP TG
(1) 389 - 2022 (2) TSH - 2022 (3) TE-2022 (4) I - 2022
RBI launched framework to achieve excellence in the performance of RBI's
mandates and strengthening the trust of citizens and other institutions.
(1) Uday-2022 (2) Udan-2022 (3) Raah-2022 (4) Utkarsh-2022
67. VT TEWM WIEF A0 ‘e 7' I THdT YRAE TAHE ST Tqd
RUA FENER SR AR, (IS 2019)
(1) fasta e (2) g BT
(3) g S (4) T YA
Noted weather scientist and ‘cyclone man’ took charge as Indian Meteorological
Department (IMD) head. (July 2019)
(1) Bijoy Ghosh (2) Mrityunjay Mohapatra
(3) Gopinath Das . (4) Tapan Pradhan

FEAT HIATEB AN /SPACE FOR ROUGH WORK
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68. 66 9 UL FaAqe QeI =N Sie=a 2019 THAT SNSTSA HLvarg 3,
faren ‘s mEl fase’ merie nitEifies faam.

(1) «m (2) @ (3) sifcwme (4) T&H
66t National Film Awards were announced earlier in Aug. 2019. film won
in ‘Best Marathi Film' category.
(1) Bhonga (2) Naal (3) Bandishala (4) Rakshas

69. 663 UL Toaqe EpriHe e ‘T et feer fieen’ qear wif
E UGG
(1) sty (2) vgAEd G) (4) dsEA

film received ‘Best Hindi Feature Film’ in 66t" National Film Awards,

(1) Andhadun (2) Padmavat (3) Ur (4) Padman

70. foest® wifis mEEn 1 S e Here Wk feeTe wewar ‘ weiae
(1) fosia (2) YRy (3) PR (4) ST
Director Kaushik Ganguly’s Bengali Film has won ‘Best Feature Film’ award
at this year’s SAARC film festival.
(1) Bijoya (2) Dhumketu (3) Nagarkirtan (4)  Jyeshthoputro

71. ST 2019 =1 Ufeean SSSad ' ¥H A9 € B ' TS faAver 25 af i el w famm

S e O wefdia e 2
1) Fes frerd (2) gt A e
(3) TS W (4) HHl YISRTY

‘Hum Aapke Hain Koun’ this Hindi film completed 25 years in first week of August 2019.
The film was released under the banner of

(1)  Yash Raj Films (2) UTV MOthI’I Pictures
(3) Rajshri Productions (4) Dharma Productions

72. it ST AMFFR Tewies moss (Fut fauom suftr St guron feeisw) 7

= 9 HTH IIHER.
(1) = (2) Ty weH
(3) HENE (4) HB

achieved first rank in NITI Aayog’'s AMFFR Index (Agricultural Marketing
and Farmer Friendly Reforms Index).
(1) Punjab (2) Andhra Pradesh
(3) Maharashtra (4) Kerala

oAl SHIHEE ST /SPACE FOR ROUGH WORK
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73.. 1948 Wiodl WS Taoge ‘=R qae § gfifes powt otan Ut faue WUeied = vrT B SR,
& fam g ferefsla %o S |
(1) 9@ b (2) <EI wIEH (B) T TER (4) <. AR

Rare Footage of 1948 Marathi Film “Vande Mataram’ will be part of NFAI (National Film
Archives of India). This film was directed by

(1) P.L. Deshpande (2) Dada Kondke (3) Ram Gabale (4) V. Shantaram

74, U W, ST Gad i Seemn A ao S qgere 1 SR

T ufess g T 3.
(1) Freirm (2) w=ea
(3) ITMES WV (4) TS

became the first state to approve a draft water policy to address water issues,
conservation and protection of water sources.

(1) Mizoram (2) Meghalaya
(3) Arunachal Pradesh (4) Nagaland
75. SARH THaE ARTGE G S A 1Yl GHEY SR Aol | et e
TR FW.
(1) YR Qe g4 faumm (ASI) (2) UNESCO
(3) WHO (4) IMF

Jaipur was recently included in the “World Heritage Site List’. This list is generated by

(1) Archaelogical Survey of India (AS) (2) UNESCO
(3) WHO (4) IMF

76. TIHGIH! HWGR ATIHATT HIUEHER, aTEHErat Wied! dadid s 92 feoe aaudza
FHT 5 9 ? _
(1) W™ (2) TR () & (4) =AW

Which of the following allows a visited website to store it's own information about a user
on the users computer ?

(1) Spam (2) Malware (3) Cookies (4) Adware

77. GOt R S e deaet S s ?

1) = 2 =g (3) &M (4) &

Which of the following domain is used most commonly by educational organisation and
institutes ?

(1) .net (2) .edu (3) .com (4) .org

AT SRS T /SPACE FOR ROUGH WORK
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78.

24 A

GO HIVTE STA = S WigedeR fakfaa wvvart st east geifaramdt wen
T ?
(1) oFfed (2) wiefan (3) femma (4) =i

Which of the following method is used to represent and show virtual version of software
to be developed in a real world ?

(1) Analysis (2) Modelling (3) Design (4) Testing
79. s TR,

(1) S Y™ uifthe (2) Wi FRSd HEY

(3) U YRl 8 femm (4) UH gEU W Y

JPG is

(1) Jumper Programmed Graphic  (2) Format for an image file

(3) Type of hard disk (4) Printing format
80. WHIBYH! HIK THeye fesamy o ?

(1) @H (2) FREGRIRN (3) wfHT 4) TFare

Which of the following is output device ?

(1) Scanner (2) Microphone (3) Speaker (4) Trackball
81. TS FEARGE IR gomar R oo S,

(1) T e Wufasd T Yuied FON Garg IR Soamyie

(2) SR TS WUHE TeF HURH FIR TG TR FAHS
(3) WRiftrgeet erdn Weag Uidem oamie

(4) Tz wfnem oamdte

Dronacharya award for coaches is given for excellent performance in
(1) Producing medal winners at national sports events

(2) Producing medal winners at international sports events

(3) Coaching physically chalienged sports persons
4) Coaching archers

FoeAT HMMEIE IO /SPACE FOR ROUGH WORK
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o faemigd g fam frae

(a) S A Fgo B frahe 37 3fean (BOCT) 7 =dvme & dor faot 3.
(b) 3T HehTEdl WA 99 WH F9 U3 THha.

() Eiftang=l Hora ot Fumtaa weu et o

Fieta! fhke fawedt ar faum SR 3 shesa,

1) (a), ®)© @ (@.®) G) (@) () 4 (a

Choose the correct statement :

(a) Chandigarh has received affiliation from the Board of Control for Cricket in India
(BCCI).

(b) Chandigarh now can have its own team in Ranaji Trophy.
{c) Delhi is a Union Territory with BCCI affiliation.
Find the correct statement/s about cricket from above.

83.

84.

1) (@), (), (o) ) () ®) 3) @ (© 4 (a)
12 =7 fYrd wsre wdned Smfas fasw i gavt e Fit fyesas ?

(1) g (2) UvaE @

(3) i el (4) 99 SES

Who received Gold Medal by making a world record in 12th A31an Airgun
Championship ?

{1) Mehuli Ghosh (2) Aishvarya Tomar

(3) Kavi Chakravarti (4) Shreya Agrawal

foasprarardt @' o dviidie 2019 o1 ‘UK U@ YN gRER I e v
AT

(1) INH R W T Ehsve
(2) T WH FHEvH

() I 5 1EE WSS
(4) TISHW THTIHE TR

Rashtriya Khel Pratoshan Puraskar, 2019 under the category ‘Sports for Development’
was given to

(1) Gagan Narang Sports Promotion Foundation
(2) Go Sports Foundation

(3) Rajyavardhan Singh Rathore Foundation

(4) Rayalaseema Development Trust

AT RIATETS ST /SPACE FOR ROUGH WORK
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85. ot WISSwF=I 2018 =1 TG =AM WAHU Hiv ?
(1) FGR= = (2) THaT AT
(3) TIorR = 4 gHa A
Who received the Vyas Award of 2018 given by Birla Foundation ?
(1) Surindar Verma (2) Mamta Kaliya
(3) Liladhar Jagudi (4) Sunita Jain
86. T HIL TR, 2019 =1 Fae dfade wig ) AFHS B,
(1) ge maeE
(2) o wg
(3) AT qEHeHA T, ﬁqﬁ wv:ﬁm RS Fai= e
4) TR

The selection committee for National Sports Awards, 2019 was headed by
(1) Sunil Gavaskar

(2) Jatin Sapru

(3) Justice Mukundakam Sharma, retired judge, Supreme Court of India
(4) Ramchandra Guha

87.

fem zra farvedten Yete faummmye 9 fawm free

(a) foron fofm R TV Sl W

(b) <t ST HRamh TR, ‘

(¢ fa THam 1000 W, 400 W anfor 700 WX TufAed goviugs FUEs 3R,

(d) onftrnd stafee wifd o 2019 98 fot gavines fueae ok o @1 de=n fa=n
TR d%5 =1 fae A smdiren Safaas a9 Jerden w2

aafdt Iy

1) (@, ®), @, d @ (@ G)(@© 3) (a) (), (d) 4 (@, (b

Find the correct statements mentioned about Hima Das from below :
(a) She is also known as Dhing Express.

(b) Sheis from Assam.

(c) She has won recently gold in 1000 m, 400 m and 700 m race.

(d) She bagged gold at Asian Athletics Championship in April 2019 with best time
which is lower than her personal time.

Answer Options :
1 @ ®) (D @ @ b)© @) (@) (b) (d) @ (), b

AT HHES 9T /SPACE FOR ROUGH WORK
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88. UTHERN WagHEt It Geie T S U3 Tsia T 99 T R Kt S
1 2 (2) 4 (3 5 (4) 6
Rajiv Gandhi Khel Ratna award is given to a sports person considering his performance
over a period of years.
1 2 2) 4 @ 5 4 6

89, YRGS STRRISEIS shiel WHHEA wHvl Iq9 MR Sl fFerdisr™ T i midifenieta

Fies ol
(1) oM IS HOH AT (2) WER TEEATIE T
() TS TEwe @ ER E

Overall top performing university in inter-university sports tournaments in India receives
trophy under the national sports awards.

(1) Maulana Abul Kalam Azad (2) Sardar Vallabh Bhai Patel
(3) Rajesh Pilot (4) C.D. Deshmukh

90. 2019 < ARHE AMfTS Hrhe $Y & FAwMvRTH TFhe T9H 1@ TN RUA HI0d
HUAT FHIF FHet Bt ?

(1) < Hed @) fomw f (3) 3o (4) TdSS

Which company was principal sponsor of Afghanistan Cricket team at ICC World Cup
2019 ?

(1) Tata Motors (2}  Reliance Jio (3) Amul (4) Patanjali

91. WHENIY Dlhydl g9 ATUfgHIsiaTa & FIH hal HIVEE ST S TEE g H&
MG X1 W4

(1) faum |w (2) faur vfg (@) qErHE (4) THUS

Under Maharashtra Right to Public Service Act, who can remove the Chief Commissioner
or any Commissioner ?

(1) State Assembly (2) State Council (3) Chief Minister (4) Governor
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92, RN SIhHUA TFk AUEE, 2015 34 X 98 RN Afkeram, TEn 9 Jel SRNEE
JHAA ST F h e, HAY WA TN YN 7 S 380 W, o o TS
HAfUFIER TSe WHHTaE!, T DR -

(1) T TS IR V&N A1 A&

(2) T9A T ISR =G Y& FH TR
(3) T TET TSR U&N HHT AR

(4) FSTH THE TR

If the First Appellate Authority in the Maharashtra Right to Public Service Act, 2015 is of
the opinion that the Designated Officer has failed to provide public service without sufficient
and reasonable cause, then shall impose a following penalty.

(1)  Shall not be less than rupees eight thousand.

(2)  Shall not be less than rupees five thousands five hundred.
(3)  Shall not be less than rupees ten thousand.
(4) None of the above

93, HERIY DIHUTl TFh UHFH, 2015 TG FHI0AET W ¢
(a) RN T4 9TA ATl IR, FEH Shydl SUamhil,
(b) VBRI IO WRTAR o WoTEH SUArhid
() TEN ITH SHifaa Smdal Ui
(d) I TR WEHI AeavaEs!

et o faem/ e S oT/A
(1) (a) 370 (b) (2)  (b) =0 (o)
(3) (a) &AM (o) (4) (), ®) (¢ M ()

The object behind enacting the Maharashtra Right to Public Service Act, 2015 is :

(a) transparant and efficient services to the eligible persons in the state of Maharashtra.
(b} corruption free administration in the state of Maharashtra.

(c) timely public service in the state of Maharashtra.

(d) to increase the participation of people in the administration.

Which of the statement/s given above is/are correct ?

(1) (a) and (b (2) () and (0

() (@) and (9 4 @ B (© and (d)

HSHT HEHE AR /SPACE FOR ROUGH WORK
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94, wifedl sfusr FrErsiaTa Mo Aifsdt wara sfad Sifaa a1 @ aEay 38e ®
Tt o1t firearearag ffet Fremasdia 30 dudenie o7e ?
(1) 2499 () 309
@) 30 fgzm (4) =BUH TH R
Under the provisions of “Right to Information Act”, where the information sought for,
concerns the life or Liberty of a person, within how much period it shall be provided ?

(1) 24 hours (2) 30 hours
(3) 30 days (4) None of the above

95. ‘‘TRNIY Orhdel gad AfufTmTE yEw Tegel favMmeEl e T I G T
SIS U <RI Fd ?
(1) HeaHE
Q) T TS
(3) T H&A Ok Hell I
(4) HerHA THHERE T Hiae Wl
Under the provisions of “The Maharashtra Right to Public Service Act”, who appoints
State Public Service Commissioner for each “revenue section” ?
(1) Chief Minister
(2) Governor of the State

(3) Chief Public Service Commissioner of the State
(4) Any Cabinet Minister nominated by Chief Minister

96. TRERTY BHAd 7Fh fuftam, 2015 Fod 15 3= U@, &1 AgHN e Hiorm
SRS |G FHH Il TS ST {iH g fehar Mg ¢
(1) T R SF. |
(2) TUUGA Ha, <A a9 Ial Sadia ST STe TErE SAIUYEES O A S

0. |
(3) 0, A1 VeI, TaTeA YRIAl Shdeaieataiier ol shIUig] S Hal sid JHe,
(4) Tlous Td

Under The Maharashtra Right to Public Service Act 2015, section 15 the Governor May,

by order remove from office of the Chief Commissioner or any Commissioner, if the Chief

Commissioner or Commissioner, as the case May be, ...

(1) is adjudged an insolvent

(2) has been convicted of an offence which in the opinion of the Governor, involves
moral turpitude

(3) engages during his term of office in any paid employment outside the duties of his
office

(4) all the above

FHEAT HIHETS AR /SPACE FOR ROUGH WORK
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97. TR AR SrEEnstard, 20 JuigE STeoedt S HfEd! S 20 a9 woEdEt
HIOMAT AR S UF o femisrrae i o Iufed sneamd (2 sifufamma ag FHosean qaanro
st it ) o= o sifem ofe ?

(1) &% TR (2) T TER
(3) YRGS T (4) TSt THE e

Under the provisions of Right to Information Act, while giving information regarding any
event or matter which has occurred 20 years before the date of the request when any
question arises as to the date from which the said period of 20 years has to be computed,
whose decision shall be final ? (subject to the usual appeals provided for in the Act )

(1) Central Government {2) State Government

{3) President of India (4) None of the above

98. THIfE srfuenr sfufTed 2005 =N GSGUF] FIVEl FHSAT FeF Aledt TN T q€0
T AR ?

(1) %o 16 (2) HOH 04 (3) HOY 14 I 15 (4) FH 12

Which Section of RTI Act, 2005 deals with Constitution of Central Information
Commission ?

{1) Section 16 {2) Section 04 (3) Section 14 and 15 (4) Section 12

99. T iR srfufammeiaia Woie SR Foq ' JagHviEd i Hafid ae ?
(1) Fo9 12 (2) T 10 (3) HH 09 (4) o9 11
Which Section deals with severability of Right to Information Act ?

{1) Section 12 {2) Section 10 {3) Section 09 {4) Section 11

HoAT HIWEIS AT /SPACE FOR ROUGH WORK
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100. ‘' WERIE; AL 59F ' Afufgmsiaia 50 To8 Seual 5% STIFiEt STamar Jaien ot
IS ? '
(2) g T (b) e foewt
(0 W IR () w3
At 36T :
® (@ 2) (a) fw (b) @) @@ @ ()

Under the provisions of “The Maharashtra Right to Public Service Act” what is the teritorial
jurisdiction of Chief State Commissioner of Public Service ?

(a) Mumbai City (b) Mumbai District

(¢) Mumbai Suburbs (d)y Whole Maharashtra State

Answer Options :

1 @) (2) (a) and (b) (3) (a) and (d) (4) (a), (b) and (c)
-000-
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Il — (y= 1 957 3....)

®) TR fafeq wowm fafire S &= &m (W6 o%) TR, TwAyfadafoies SufFEat @
T FAEEL HE HH HeAY o DU BT FIYH FO IR, I TS TES F TR IHEARET
WEAA IR Foen *wlteined o Rysri vy woaeees sfufte-82’ e weEE e
FOAId IS 9 N Tl FHIG TF =N sREwErsa SN/ fHa T U T i e eE
T3 TS,

9) T FRTEFEAE AT fafeq FOch de el IHEANS @ eI T s TOsmReTse
HFA FUATE QETH SR, W TR ST WUATgEl SUIAra et Seaba e Wr- 1

TUdgETERS T e T T evasd ok
IHAT WA
W 3. 201, T 950 T HIOAEE RO qo: TH HS 2
() ol I g @ R faEeEr
@) T THEE (4)  TOreEE TirEes

. sh. 201.

YT g IR (3) T TR T 3 o, @ W v I ()" e, I
GIATTHI WE 3. 201 Fe FR-wHiE C(G) ! ¥ ade oivd s e S o
3T, .

ONON NO

TR @ O YIsheimeEe dufid aie Uit sHifea FE9 qrgaEl  geiar
T ThTedl IIEY Ao AT, YFae o wnEe O anee .
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